USE 8@° BEND SUPPORTS 6981301 AT TUBING

EENDS TO AVOID HAVING TO CUT AND SPLICE

TUBING INSIDE COACH BODY.
OUTSIDE -OF COACH, COPPER ELBOWS 2252211

AND CRIMP SLEEVES 37795392 MAY BE USED | (2) (2)
WHERE SPACE IS LIMITED. |

ITEM P/N DESCRIPTION QUANTITY
1 | 6888848 | RQUA-HOT, 58888 BTU, 3 ZONE, 12V, 9208-431 1
2 | 3941960 CONVECTOR, 12V, 18808 BTU, PRIMUS 5 (SEE NOTE 1)
3 | 3941978 CONVECTOR, 12V, 4988 BTU, PRIMUS 2 (SEE NOTE 2)
(s)X8) 4 6081012 FILTER ASSY., AACOR 120R, WITH 1/4 NPT PORTS 1
‘ s | 6053118 VALVE, CHECK, AQUA-HOT, 2RA1380000P 3 (SEE NOTE 3)
6 | 6881392 VALVE, CUTOFF, BALL, 1/4 TURN, 1/2 MPT X 1/2 FPT | 3 |
7 | ©413153 HOSE, 'HEARTER, WATER, 5/8 ID. | 20FT (SEE NOTE 4)
8 | 60888923 TUBING, 1/2 1.D., WIRSBO HEPEX, 180F X 100PSI 200F T
9 | 1189271 LOOM, CORROGATED, BLACK NYLON, 3/4 ID 208FT
18 | 6053182 BOTTLE, EXPANSION TANK, W/BRKT., 18550800QP 1 (SEE NOTE 3)
11 | 6888964 | COVER, ACCESS HOLE, PLUMBING, HYDRONIC HEAT 2
ITEMS NOT SHOWN ON DRAWING
12 | 8557710 CLAMP, CLOSED TYPE, INSL, 13/16, 1645 40
13 | 854397 | COVERING, FIR, SMOOTH, BLK, 1/8 X 38-3/16 X 39YD 48" (.044)
14 | 8877597 VALVE, CHECK 2
15 | 1142801 INSERT, BARBED, 5/8 ID HOSE X 1/2 PIPE 2
16 | 1499085 ELBOW, BARBED INSERT, 1/4 HOSE X 1/4 MPT 1
17 | 1409093 ELBOY, BARBED INSERT, 3/8 HOSE X 1/4 MPT 1
18 | 1569185 ADAPTER, BARBED INSERT, 3/8 HOSE X 3/8 PIPE 2
19 | 1589308 CLIP, WIRE AND TUBE CLAMP, 1/8 — 1/4 FLANGE 5
28 | 1722297 ANTIFREEZE, LOW SILICATE,ETH. GLY. BASE W/DCA4 | 18 GALLONS
21 | 2193878 BRACKET, WALL MTG., 7/8 X 7/8 X 3/4 5
22 | 2211118 BOX, RECEPTICLE, WEATHERPROOF 1
23 | 2252211 ELBOW, COPPER, 1/2 BARB X 1/2 BARB 16
24 | 3758596 | COUPLING, 1/2 PIPE, BRASS 2
25 | 3779592 | SLEEVE, CRIMPING, COPPER, 1/2 BARB 32
26 | 6051379 DEFLECTOR, HERTER 1
27 | 6874462 | PIPE, 1-1/4 BIP, THRERD ONE-END 1
28 | 6080865 THERMOSTAT, LOW TEMP., 48-88 DEGREES 1
29 | 6088907 | CONNECTOR, 1/2 MPT X 1/2 POLY TUBE 6
| 38 | 608093 CLAMP, CONSTANT TENSION, FOR 1/2 POLY TUBING 32
31 | 6081301 SUPPORT, 98 BEND, 5/8 OD POLY TUBE, WF51195@ 30
32 | 6081335 BRACKET, CONVECTOR 8
33 | 6081384 ELBOY, 1-1/4 PIPE, 98 DEG., GALVANIZED 1
34 | 6081459 CLAMP, EXHAUST, 1-1/2 U-BOLT 1
35 | 6081475 ELBOW, RUBBER, 5/8 ID, 98 DEG. 8
36 | 60881483 HOSE, '5/16, RUBBER, W~H H@5785 2FT
37 | 6081814 GRILL, CONVECTOR, 4890 BTU 2
38 | 6874892 | CLAMP, MUFFLER, 1-5/8 OD PIPE - 1
39 | 6978513 PIPE, EXHAUST, AQUAHOT, DRVA SIDE EXIT 1
40 | 6878521 NIPPLE, PIPE, 1-1/4 X 3"LONG, BIP 1
41 | 6081946 ADAPTER, BARBED INSERT, 3/8 FPT X 3/8 BARB 2
MW - 60681213 GRIL.L, CONVECTOR, 18069 BTU, FAN COVER 2
| 44

NOTES: 1. NUMBER OF HEAT EXCHANGERS MAY VARY ACCORDING TO FLOOR PLAN.
2. (2) 4888 BTU HEAT EXCHANGERS WILL ALWAYS BE REQUIRED FOR BRY HEAT.
3. THESE PARTS SUPPLIED WITH THE AQUA-HOT SYSTEM ITEM #l.
4. THIS HEATER HOSE IS USED TO RDAPT FROM THE 1/2 INCH TUBING TO
THE COPPER INLET/OUTLET TUBES ON THE HERT EXCHANGERS.

I. WHEN PRIVATE TOILET IS REQUIRED, REPLACE 6881820 CONVECTOR - |

WITH (2) 4000 BTU CONVECTORS 3941978, (1) BLOWING INTO BATH ﬁ %
AREA AND (1) BLOWING INTO TOILET AREA. % ~ |mATERIAL: |
2. WHEN SIDE QUEEN IS REQUIRED, REPLACE 6681020 CONVECTOR - |
WITH (2) 4080 BTU CONVECTORS 3941978, (1) ON EACH SIDE OF BED. |FLAT Size: |
3. WHEN BED IS LOCATED ON CURB SIDE, ROUTE BEDROOM w |
CIRCUIT UP THROUGH A HOLE IN AQUAHOT COMPARTMENT, AND - , |
REARWARD ALONG WALL TO BEDROOM AND INSTALL (2) 4680 BTU FINISH COLOR OR TYPE _A_|MOVED AQUA-HOT TO ROADSIDE  WC | | /5795
CONVECTORS 3941978, (1) EACH SIDE OF BED. | ooy PAINT | LeT] REVISIONS oR. | APP.| CK. | ECN | DATE |
4. WITH SIDE AISLE, PLACE (1) 4680 BTU CONVECTOR (3941978) e PLATING " s, | Blue Bird Wanderlodge | ST
IN BASE OF PANTRY, ROUTING TUBING THROUGH THE FLOOR AND OTLER | , AT VeLLEY, GEORGP, ok~ ,
BEHIND THE WALL ABOVE THE AQUAHOT BAY. | — S | ~HAGRAN. INSTARI I ATION. BOIALT |
LOCATE ADDITIONAL 4808 BTU CONVECTOR IN BATHROOM, USING || TOLERANCES ON ALL DINENSIONS 15 PLUS | | — A, Mo TALLATION, ARUAROT
STANDARD ROUTING ACROSS FRAME AND DOWN STREET SIDE WALL. OR HINUS UNLESS OTHERWISE SPECIFIED . HEATING WL WB
| | NACTIVATES NOs bR, JUL.28°5% By JWetcolf | SIE
| REPLACED BY KO _wmw.. MM , ﬁ 5080956




